PHYSICS 200B, WINTER 2017
ELECTRICITY AND MAGNETISM

Assignment Two, Due Friday, February 3, 5:00 pm.
[0.] Problem Six from Assignment One.

[1.] Compute the potential V(r, 8, ) due to a thin disk of charge @ of constant charge per
area. Make a convenient choice of origin and orientation of your axes.

[2.] A point charge @ is a distance zp from an infinite metallic conducting plane held at
potential V = 0. Compute the induced charge density on the surface of the plane and the
total charge on the plane. What is the electric field (magnitude and direction) at the surface
of the plane?

[3.] A point charge @ is a distance 2, from the center of a metallic sphere of radius R < 2o
held at a potential V' = 0. What is the Greens function for positions outside the sphere?
What is the potential outside the sphere?
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